9 71"7 '010 R,y NAWw .7"02

— YRR DINOHT 92977 90 W N1 9BY
It is more preferable for him in order to brighten the dye

OVERVIEW

The & mx explained the reason he is 7aw1 901 DWwn MWD because he is a (POynn)
[712nn PR], even though 1207 X is 2°11 by 7w p°00,! is because in our case he
prefers that the 171 remain alive in order 7°¥2¥ °%°%7. Our MO explains how
this answers the question that it is a 77°w°7 2°05.

= PYNY 229 NINT NOYWI P09 MHNT 2) DY N 2W1929
The explanation of the s'k723 answer is that even though it is a 9''>02, where @''9

agrees that he is 211 even though he is 112nn P, nevertheless -
= 309139 N8 NINY NANDM MHNT DIVN 909 NN

Here by 112 he is 792 because it is a 3'"H3Rwbn -
- N9NY 19998 NIPNRY NINYNA PYNY 2329 5909 *9HYPI 19%aNT

For @''1 exempts a 3'">2Xwn even by [7712n2] ®pbpn -
- PYAY 39 295N NIANT YPYPM MNT 199 DAY 1NN (3,70 pr1m) PPPININ P93 VINTH

As the X3 states in °pimi? a5, ‘whom do you hear that maintains »popn
723 s 29om; it is @' -
= 7550¥ 9109 NANYT NN NINY NINDNI 9N NN

' nm ®™ w pooo, literally ‘chop off its head and it will not die’ is the expression used to limit the a7 of X

1201, meaning that if as a result of his actions it is inevitable that a 78 will be done, he is 2°1, and he cannot

claim. ‘I did not intend to do it’. It is as if someone says, ‘I only wanted to remove the head; I had no intention of

killing it’. It is a ludicrous claim. Similarly every 1m>n»n 7R which is a 7w P09 is 2»1. Here too even though he

does not want to kill the 111917 but since inevitably he will kill it by removing its blood/dye; he should be 27n.

2 mvon, by writing w1, is seemingly negating >"wd (cited later in this mooIN), who does not mention 3"7¥xwn in

his explanation why 2"05 does not apply here.

3 x"9xxwn literally means, work which is not needed for its sake. A classic example is if one removes a corpse from

the house into a 2°3777 M. The 7X?» of 7R¥IT is when one removes an item from a >'77 into a 2"77 because he

wants the item to be in the 1"77 (the way it was in the 10wn [by the o°w1p]). However by the corpse he only wants to

remove it from the house; there is no interest that it should be in the 2"71. This is considered a 1">¥xwn. I do not

need the real purpose of the 70891, Here too by the 1791 I may be doing nnwi n°uvi technically, by removing its

blood/dye, however I am only interested in gathering the ¥a¥, but not in killing the 11%m. There is a dispute whether

A"oXRWY is (") 21, or (") Mws. Therefore according to w3 here he is Mo, since it is a 3"7¥RWn.

4 Others suggest amending this to read, 705 amama popn (instead of WD Hp7pn).

5 w"1 maintains that A"23Xwn is 7MWD even by 7Mama Hpopn where there is no requirement for nawnn Naxm and Hpopn

PovNAY are both 211, nevertheless 3"23¥Xwn is Mo, See previous poynn 7"7 'O [TIE footnote # 4].

® The X3 there is discussing the mwn in 2,20p Naw that one is permitted to use a needle to remove a splinter. The

XX explains that even though he may be 2211 (draw blood), nevertheless it is permitted for it is w" who maintains

7N Ypopn is 2°n, however W' also maintains 3"2¥Rwn is Mwo. This proves that 3"23¥xwn is wd even by 7M.

7 Our case, by 11171, however is not entirely similar to the splinter case, for there it is not a 71"™0», and here it is.

Nonetheless; there (since it is not a 2"09) it is 737127 7N, however here (since it is a 1"09) we are not 721037 °nNK
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But ¥'"1 also maintains one is 7D for a 3""»3Nwn —

moo1n responds to an anticipated difficulty:®
= 7YY Pr02] NYNY 29 AN
And when does @' agree that 2'"50p is 2717 -
= 9N NN NNT NN N NP7 NNGT »79103 3951 9N

That is only if he is pleased if the 70X%» happened, for then it is 75I3% 75°9% -
= 7011 NY P9 NOIN NI Y NA HaN

However if it is something which he does not care about, he does not agree that
he is 217 even if it is 7"0D as long as it is 11201 X (since it is a "¥RWnN).

nvoIN cites "wND:
= PPV PIU9A PYNY 239 NTINT RNT 10U 7Y

And >'"'w explained that this which @' agrees by 2'"905 that he is 21 -
= 11951 X 10 NOIIN KDY AN 1IN

That is only if he does not care whether the 75X%7 happens or not, however when he
does not want the 70X to take place (like here by 1191 where he does not want it to die), he is
Mo,

mooin disagrees with *"w19 that 7"09 is 21 even if it is 7°% NDR RY:
= (% p 1pY) 12013920 P93 PYNRY 229 909 NP93NT NYIND PT9T 19110 NNT RIPDY

But this is not so, for @' in 719277 P92 exempts one who prunes reeds in his

friend’s field -
— DYYW0TH NYN 1911 N MY N9IN NY oM

And there the pruner does not care if his friend’s field is pruned or not and

nevertheless he is 5. Rather we must say as I explained that 2"o9 is 21 only when
it is 772 X°3, not when he is ambivalent.

w1 nv), as is the case by a 11onn PR 127 (according to w"1), but rather we merely say that he is Mo because it is

a 3"oXRwn.

8 Seemingly every 1"°09 is a 3"7¥xwn by definition, so when does w"1 agree that 7"00 is 2.

% See ‘Thinking it over 1 & 2.

109y 7",

" According to n1von the 21’1 of 1™00 is only if he is pleased with the outcome; however if he does not care either

way he is Mo and certainly if he does not want it to happen (like by 1r2m). According to >"w1 however he is 21 by

1"0s even if he is ambivalent about it and certainly if he is pleased, but if he is displeased he is M5 even by 1"0s.

[There seems to be another difference between >"wn and nooIN; according to MoOIN the WD by 1" 05 if he does not

care about it, is associated with the rule of 3">¥xw9, however according to *"wM if he is displeased, that itself

removes the 211 of 7" 00.]

12 If one were PTT 7711 in his own field he would be w1 own 21, for he is improving his field. Nevertheless he is

705 in another’s field because he is ambivalent; this contradicts >"w1 who maintains he is 7"092 211 if 7% NOOX XY.
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mooin asks:
= YNYN (3, 91 DIINT RIP P99 9027 11

And it is astounding, for it seems from the end of the first P99 of 731 ndon -
= NAYNN HINYN 'Y¥AT OIVN 13991 NANY NN NIIRY NININ PYNIY 9 9999 NHT

That the reason @''9 exempts a 3""52Xw» is because we require Nawn» NOR? -
$NONY NN NINRY NINTN N2 2NY BNAWNND NINDN d¥a YT N1913N2 19 ON)

So therefore by 7712m where we do not require nawn» nox>» he should be
liable for a A">2Rwn! moon does not answer this question (here).'*

SUMMARY
3"05 is 2711 (according to w'"7) only when it is 7% &r°1; otherwise it is a 3"?¥RwWH7
and he is 7w>.

THINKING IT OVER

1. Moo maintains that 2" is 21 only when it is 7% &3, however if he does not
care either way he is Mwo.!> Why therefore did the X3 say, *5v 72w 7°2 N°RT 137
7% &m3; indicating that he does not want it to die, the X713 could have merely said
that he does not care whether it dies or not, for even in this situation, ¥"9 maintains
that 7">00 is not 27n?!16

2. The rule that a 7°% X217 2"™09 is 277; is it because the 1"°05 makes it 11507, or
the 7°% X1 makes it Xo13% 708?17

13 See footnote # 5 here, and previous povn» 1"7 '0n [TIE footnote # 4 and ‘In summation’ by footnote # 6].
14 See 0" who answers that even though 3"7¥Xwn is W1 because it is not a Nawnn nox>» and that Mwd does not
apply by (7112m7) 2211, nevertheless here he is 75 since it is a combination of 12n% PR and 3"73¥Xwn besides that he
definitely does not want it to die. Y"1 #"XI7 MM Y.
15 See footnote # 9.
16 See w"X7 N1OIN. See also w"w M ,X"wAnn and 910 ann.
17 See nax now (1"7W).
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